Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part differs from the other three in pronunciation in each of the following questions.
Câu 1: A.  federation		B.  impress		C.  ethnic		D.  depend
Câu 2: A.  currency		B.  busy		C.  compulsory	D.  puppet
Câu 3: A.  official			B.  come		C.  capital		D.  secondary
Câu 4: A.  instruction		B.  Islam		C.  soil		D.  correspond
Câu 5: A.  asked			B.  arrived		C.  enjoyed		D.  used
Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the other three in the position of primary stress in each of the following questions.
Câu 6: A.  optional			B.  primary		C.  impressive	D.  separate
Câu 7: A.  introduction		B.  population	C.  recreation		D.  Hinduism
Câu 8: A.  federation		B.  separation		C.  compulsory	D.  information
Câu 9: A.  secondary		B.  mausoleum	C.  conversation	D.  correspondence
Câu 10: A.  farewell		B.  monster		C.  depend		D.  divide
Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions.
Câu 11: When the road _____, go left.
A.  divides	B.  turns	C.  bends	D.  connects
Câu 12: Their future _____ on how well they do in school.
A.  depends	B.  decides	C.  denies	D.  determines
Câu 13: The _____ from my family and friends made me very unhappy.
A.  separate	B.  separation	C.  separating	D.  separately
Câu 14: Freeman is _____ in the title role, playing a disillusioned cop.
A.  impress	B.  impression	C.  impressive	D.  impressing
Câu 15: Most kids love _____ shows.
A.  punk	B.  puppet	C.  punch	D.  talk
Câu 16: Egypt is famous _____ ancient pyramids.
A.  for	B.  on	C.  to	D.  from
Câu 17: Wilson now found himself leading a weak and _____ party.
A.  divides	B.  dividing	C.  divided	D.  dividen
Câu 18: ‘I took the TOEFL. It was really hard.’ ‘_____ a lot before you took it?’
A.  Have you studied	B.  Did you studied	C.  Had you studied	D.  Do you studied
Câu 19: The girl wishes she _____ in Hue for the festival next week.
A.  had stayed	B.  could stay	C.  stay	D.  was staying
Câu 20: I _____ on the subways in New York City.
A.  haven’t never ridden	B.  have never ridden
C.  haven’t never ride	D.  have never ride
Câu 21: Did you say that you _____ here only three days ago?
A.  came	B.  have come	C.  had came	D.  come
Câu 22: The country’s population consists of three main _____ groups.
A.  ethnic	B.  ethic	C.  ethnicity	D.  ethical
Câu 23: A school outfit is no longer _____.
A.  compulsory	B.  option	C.  comprise	D.  compromise
Câu 24: Many Canadians spend their vacations in warmer _____.
A.  air	B.  atmosphere	C.  weather	D.  climate
Câu 25: The plane landed at Heathrow _____.
A.  Station	B.  Port	C.  Bay	D.  Airport
Mark the letter A, B, C, or D on your answer sheet to indicate the underlined part that needs correction in each of the following questions.
Câu 26: The town has had two big snowstorms before Christmas last year.
A.  has had	B.  big snowstorms	C.  before	D.  Christmas last year
Câu 27: My father has smoke for a long time but now he has given up.
A.  has smoke	B.  for	C.  but	D.  has given up
Câu 28: Oh, no! It started to rain and my clothes are on the line.
A.  Oh, no	B.  started	C.  clothes	D.  on the line
Câu 29: Martina has won many tennis tournaments for she moved from Slovakia.
A.  has won	B.  tournaments	C.  for	D.  moved
Câu 30: I thought I would get to the restaurant first, but Paul has arrived before me.
A.  I thought I would	B.  get to	C.  has arrived	D.  before me
Câu 31: Last night I came home, cooked dinner, and watching TV.
A.  I came home	B.  cooked dinner	C.  and	D.  watching TV
Câu 32: A fire protection device had a mechanism that reacts to smoke and heat.
A.  fire protection device	B.  had
C.  reacts to	D.  smoke and heat
Câu 33: I saw the movie before, but I decided to see it again.
A.  saw	B.  before	C.  but I	D.  to see

Câu 34: Actually, I miss the good old day when we used to cycle to the shops.
A.  Actually	B.  miss	C.  day	D.  used to cycle
Câu 35: Long ago there used to be a beautiful island on the Atlantic Ocean.
A.  Long ago there	B.  used to be	C.  on	D.  the Atlantic Ocean
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct word or phrase that best fits each of the numbered blanks.
From a European perspective, the first explores were engaged in the settlement and discovery of the ‘new world’. However, the history of the United States is but a recent episode (36)……… comparison with the history of the North America continent and its (37)                      . Between 54 million and 2 million years ago, the continent evolved into the form we know today. At least 15,000 to 20,000 years ago, nomadic hunters began to migrate from Asia across the Bering Strait.
By the fifteenth century, when the European nations were ‘discovering’ America, the country (38)                       by minimum of 2 million natives. Most of the tribes had developed some kind of agriculture or (39)                       while remaining as hunters and retaining nomadic characteristics. They roamed the high western plains, hunted mountain valleys, and farmed along the river from coast to coast. There was considerable diversity and there (40)                       several hundred different languages among the wide-ranging tribes. Several tribes, such as Iroquois, were very (41)         in achieving political unit and extending their influence.
The native (42)                       were very well adapted to their environment and without the aid of natives, the first European settlers might not have survived. Many native vegetables, (43)                       maize and potatoes became important staples. Moreover, native trackers, guided expeditions and taught hunters and explorers the ways of the land. For years, U.S. history began with Columbus, but today the cultures and contributions of the early inhabitants of the Americans (44)                       studied and acknowledged. The story of the North America begins the true origin of the continent and (45)                       people.
Câu 36: A.  in	B.  on	C.  when		D.  Ø
Câu 37: A.  civil	B.  people	C.  civilian		D.  inhabitant
Câu 38: A.  was inhabited	B.  inhabited	C.  has been inhabited	D.  had inhabited
Câu 39: A.  fish	B.  fishes	C.  fishing		D.  fisher
Câu 40: A.  was	B.  were	C.  had been		D.  has been
Câu 41: A.  success	B.  succeed	C.  successful		D.  successfully
Câu 42: A.  people	B.  peoples	C.  nations		D.  settlers
Câu 43: A.  so like	B.  example	C.  such as		D.  so as
Câu 44: A.  had	B.  has	C.  is		D.  are
Câu 45: A.  it’s	B.  hers	C.  this		D.  its
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions.
Of all the natural wonders of the world, few are as spectacular as Niagara Falls. Located on the Niagara River along the border between the United States and Canada, Niagara Falls actually consists of two falls, the American Falls and the Horseshoe Falls. The former is on the US side of the border, in the state of New York, while the latter is on the Canadian side. About 85% of the water in Niagara River flows over the Horseshoe Falls, which is the more impressive of the two falls.
About 10 million people visit the falls each year, most during the summer tourist season. Sightseers can ride steamers up close to the boiling water of the falls, or view them from parks on both sides of the river. Niagara Falls has long been a popular honeymoon destination for newlyweds.
Câu 46: Which of the following is entirely on the US side of the border with Canada?
A.  Niagara River	B.  American Falls	C.  Niagara Falls	D.  Horseshoe Falls
Câu 47: It can be inferred from the passage that Horseshoe Falls _____.
A.  is the larger of the two falls				B.  is the less impressive fall
C.  has 15% of the Niagara River flowing over its edge	D.  is in the state of New York
Câu 48: According to the passage, people prefer to visit Niagara Falls in the _____.
A.  spring	B.  summer	C.  fall	D.  winter
Câu 49: Which of the following is not true?
A.  According to the passage, Niagara Falls is the most spectacular wonder of the world.
B.  Niagara Falls is located on the Niagara River.
C.  The American Falls and the Horseshoe Falls compose the Niagara Falls.
D.  American Falls is the less impressive of the two falls.
Câu 50: In the author judgement, _____.
A.  Niagara Falls is most beautiful during the summer tourist season.
B.  Niagara Falls is a very popular tourist attraction, especially with honeymooners.
C.  American Falls is more beautiful than Horseshoe Falls.
D.  The waters of the two falls is very hot.

----- HẾT -----


Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part differs from the other three in pronunciation in each of the following questions.
Câu 1:	A.  federation	B.  impress	C.  ethnic	D.  depend
Câu 2:	A.  currency	B.  busy	C.  compulsory	D.  puppet
Câu 3:	A.  official	B.  come	C.  capital	D.  secondary
Câu 4:	A.  instruction	B.  Islam	C.  soil	D.  correspond
Câu 5:	A.  asked	B.  arrived	C.  enjoyed	D.  used
Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the other three in the position of primary stress in each of the following questions.
Câu 6:	A.  optional	B.  primary	C.  impressive	D.  separate
Câu 7:	A.  introduction	B.  population	C.  recreation	D.  Hinduism
Câu 8:	A.  federation	B.  separation	C.  compulsory	D.  information
Câu 9:	A.  secondary	B.  mausoleum	C.  conversation	D.  correspondence
Câu 10:	A.  farewell	B.  monster	C.  depend	D.  divide
Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions.
Câu 11: When the road _____, go left.
A.  divides	B.  turns	C.  bends	D.  connects
Câu 12: Their future _____ on how well they do in school.
A.  depends	B.  decides	C.  denies	D.  determines
Câu 13: The _____ from my family and friends made me very unhappy.
A.  separate	B.  separation	C.  separating	D.  separately
Câu 14: Freeman is _____ in the title role, playing a disillusioned cop.
A.  impress	B.  impression	C.  impressive	D.  impressing
Câu 15: Most kids love _____ shows.
A.  punk	B.  puppet	C.  punch	D.  talk
Câu 16: Egypt is famous _____ ancient pyramids.
A.  for	B.  on	C.  to	D.  from
Câu 17: Wilson now found himself leading a weak and _____ party.
A.  divides	B.  dividing	C.  divided	D.  dividen
Câu 18: ‘I took the TOEFL. It was really hard.’ ‘_____ a lot before you took it?’
A.  Have you studied	B.  Did you studied	C.  Had you studied	D.  Do you studied
Câu 19: The girl wishes she _____ in Hue for the festival next week.
A.  had stayed	B.  could stay	C.  stay	D.  was staying
Câu 20: I _____ on the subways in New York City.
A.  haven’t never ridden	B.  have never ridden
C.  haven’t never ride	D.  have never ride
Câu 21: Did you say that you _____ here only three days ago?
A.  came	B.  have come	C.  had came	D.  come
Câu 22: The country’s population consists of three main _____ groups.
A.  ethnic	B.  ethic	C.  ethnicity	D.  ethical
Câu 23: A school outfit is no longer _____.
A.  compulsory	B.  option	C.  comprise	D.  compromise
Câu 24: Many Canadians spend their vacations in warmer _____.
A.  air	B.  atmosphere	C.  weather	D.  climate
Câu 25: The plane landed at Heathrow _____.
A.  Station	B.  Port	C.  Bay	D.  Airport
Mark the letter A, B, C, or D on your answer sheet to indicate the underlined part that needs correction in each of the following questions.
Câu 26: The town has had two big snowstorms before Christmas last year.
A.  has had	B.  big snowstorms	C.  before	D.  Christmas last year
Câu 27: My father has smoke for a long time but now he has given up.
A.  has smoke	B.  for	C.  but	D.  has given up
Câu 28: Oh, no! It started to rain and my clothes are on the line.
A.  Oh, no	B.  started	C.  clothes	D.  on the line
Câu 29: Martina has won many tennis tournaments for she moved from Slovakia.
A.  has won	B.  tournaments	C.  for	D.  moved
Câu 30: I thought I would get to the restaurant first, but Paul has arrived before me.
A.  I thought I would	B.  get to	C.  has arrived	D.  before me
Câu 31: Last night I came home, cooked dinner, and watching TV.
A.  I came home	B.  cooked dinner	C.  and	D.  watching TV
Câu 32: A fire protection device had a mechanism that reacts to smoke and heat.
A.  fire protection device	B.  had
C.  reacts to	D.  smoke and heat
Câu 33: I saw the movie before, but I decided to see it again.
A.  saw	B.  before	C.  but I	D.  to see
Câu 34: Actually, I miss the good old day when we used to cycle to the shops.
A.  Actually	B.  miss	C.  day	D.  used to cycle
Câu 35: Long ago there used to be a beautiful island on the Atlantic Ocean.
A.  Long ago there	B.  used to be	C.  on	D.  the Atlantic Ocean
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct word or phrase that best fits each of the numbered blanks.
Câu 36 - 45: 
From a European perspective, the first explores were engaged in the settlement and discovery of the ‘new world’. However, the history of the United States is but a recent episode (36)                       comparison with the history of the North America continent and its (37)                      . Between 54 million and 2 million years ago, the continent evolved into the form we know today. At least 15,000 to 20,000 years ago, nomadic hunters began to migrate from Asia across the Bering Strait.
By the fifteenth century, when the European nations were ‘discovering’ America, the country (38)                       by minimum of 2 million natives. Most of the tribes had developed some kind of agriculture or (39)                       while remaining as hunters and retaining nomadic characteristics. They roamed the high western plains, hunted mountain valleys, and farmed along the river from coast to coast. There was considerable diversity and there (40)                       several hundred different languages among the wide-ranging tribes. Several tribes, such as Iroquois, were very (41)                       in achieving political unit and extending their influence.
The native (42)                       were very well adapted to their environment and without the aid of natives, the first European settlers might not have survived. Many native vegetables, (43)                       maize and potatoes became important staples. Moreover, native trackers, guided expeditions and taught hunters and explorers the ways of the land. For years, U.S. history began with Columbus, but today the cultures and contributions of the early inhabitants of the Americans (44)                       studied and acknowledged. The story of the North America begins the true origin of the continent and (45)                       people.
(36) 	A.  in	B.  on	C.  when	D.  Ø
(37) 	A.  civil	B.  people	C.  civilian	D.  inhabitant
(38) 	A.  was inhabited	B.  inhabited	C.  has been inhabited	D.  had inhabited
(39) 	A.  fish	B.  fishes	C.  fishing	D.  fisher
(40) 	A.  was	B.  were	C.  had been	D.  has been
(41) 	A.  success	B.  succeed	C.  successful	D.  successfully
(42) 	A.  people	B.  peoples	C.  nations	D.  settlers
(43) 	A.  so like	B.  example	C.  such as	D.  so as
(44) 	A.  had	B.  has	C.  is	D.  are
(45) 	A.  it’s	B.  hers	C.  this	D.  its
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions.
Câu 46 - 50: 
Of all the natural wonders of the world, few are as spectacular as Niagara Falls. Located on the Niagara River along the border between the United States and Canada, Niagara Falls actually consists of two falls, the American Falls and the Horseshoe Falls. The former is on the US side of the border, in the state of New York, while the latter is on the Canadian side. About 85% of the water in Niagara River flows over the Horseshoe Falls, which is the more impressive of the two falls.
About 10 million people visit the falls each year, most during the summer tourist season. Sightseers can ride steamers up close to the boiling water of the falls, or view them from parks on both sides of the river. Niagara Falls has long been a popular honeymoon destination for newlyweds.
(Câu 46) Which of the following is entirely on the US side of the border with Canada?
A.  Niagara River	B.  American Falls	C.  Niagara Falls	D.  Horseshoe Falls
(Câu 47) It can be inferred from the passage that Horseshoe Falls _____.
A.  is the larger of the two falls	B.  is the less impressive fall
C.  has 15% of the Niagara River flowing over its edge	D.  is in the state of New York
(Câu 48) According to the passage, people prefer to visit Niagara Falls in the _____.
A.  spring	B.  summer	C.  fall	D.  winter
(Câu 49) Which of the following is not true?
A.  According to the passage, Niagara Falls is the most spectacular wonder of the world.
B.  Niagara Falls is located on the Niagara River.
C.  The American Falls and the Horseshoe Falls compose the Niagara Falls.
D.  American Falls is the less impressive of the two falls.
(Câu 50) In the author judgement, _____.
A.  Niagara Falls is most beautiful during the summer tourist season.
B.  Niagara Falls is a very popular tourist attraction, especially with honeymooners.
C.  American Falls is more beautiful than Horseshoe Falls.
D.  The waters of the two falls is very hot.
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